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POK OI HOSPITAL TANG PUI KING MEMORIAL COLLEGE
FIRST TERM EXAMINATION (2015-2016)
S1 ENGLISH LANGUAGE 1 '
WRITING
QUESTION PAPER

Date: 14 JAN 2015

Time allowed: 60 minutes
(PP.1-3/23)

Instructions:
1) The total mark is 100.
V2) The paper is divided into two sections, namely,

Section I: Short Tasks (30 marks) and Section II: Extended Writing Task (70 marks).

3) Write neatly and clearly in the spaces provided on the Answer Sheets. Answers written in the
Question Paper will not be marked or given any marks.
4) You are advised to spend 20 minutes on Short Tasks and 40 minutes on Extended Writing Task.

5) Leave some time to proofread your work before submission.

Section I

Short Tasks (30 marks)

In this section, you are required to complete three short tasks.

Task 1 (10 marks) Word Order
The words in the sentences below are mixed up. Put the words in the correct order. Add punctuation

marks and CAPITALIZE words where necessary. An example is given for you.

Example: always / a holiday / rains / it / we / when / have

It always rains when we have a holiday.

- 30 4T S %
1 are/v}e/watchmg/ a/home / movie / at

b v ] 4
2) in/kitcc‘ien/is/sogfle/médng/the/mllm/popcom

IS M .
3) ot/ work / Dad /'is / from / home

RPN SN S N L,
4) are / to meet / gomg/hlm/fo,r/later/ we / dinner

1.5 &7 >

5) rajmng/i/itgf st%/p/hope/\fnrﬂ
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Question Paper /S1/ENG 1/P.2

- Task2 (12 marks) Short Writing
You are writing a report about students’ favourite festivals. Use the information from a class survey

to write your report.

Class Survey Results:
Students’ Favourite Festivals

Class: 1B No. of students: 32

Students favourite festival: Chinese New Year (18 votes)

Reasons for liking this festival:
1. receive red packets from relatives

2. don’t need to go to school

Activities they like to do:
1. put up decorations — looks nice
2. go to the flower market

3. visit relatives

Task 3 (8 marks) Proofreading

Correct the mistakes according to the following instructions:
e Underline a word that is incorrect and write a correct word above it.
o Mark the position of a missing word with a “~”” and write the missing word above it.
e Putacross ‘X’ on the extra word.

REMEMBER! There is only ONE mistake in EACH NUMBERED line.
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Section IT

Long Task (70 marks)
In this section, you are required to write an essay in about 150 words.

You are Julia. Yesterday you got an email from your friend, May, in Hong Kong. Read her email
and write a reply to the letter. Choose some activities from the choices below. You can think of
your own activities.

Hi Julia,

How are you? I’m glad to hear that you had a wonderful time in Macau.

Guess what? Dad has finally bought a new phone. Now, you can message me
anytime! I’ve been asking him for a better phone all year. He finally got me the

phone because I did well on my mid-term exams.

Tell me about your trip to Macau. Who did you go with? What did you buy
while you were there?

Regards,

May

Things to do in
Macau

MACAL
TOWER
8 Pk

TREAAT

Macau Tower
e Bungy Jump
e Sky walk °
o Tower climb A

The House of Dancing Water
Spectacular water show

o Amazing dance performances

e Brilliant production

Macau Grand Prix Museum
e History of the international racing event
e Sports car exhibition

-END OF PAPER-
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POK OI HOSPITAL TANG PUI KING MEMORIAL COLLEGE
FIRST TERM EXAMINATION (2015-2016)
S1 ENGLISH LANGUAGE1
WRITING
ANSWER SHEETS

Date: 14 JAN 2016

Time allowed: 60 minutes
(PP.1-4/23)

Instructions:
1) The total mark is 100.
2) The paper is divided into two sections, namely,

Section I: Short Tasks (30 marks) and Section II: Extended Writing Task (70 marks).

3) Write neatly and clearly in the spaces provided on the Answer Sheets. Answers written in the
Question Paper will not be marked or given any marks.
4) You are advised to spend 20 minutes on Short Tasks and 40 minutes on Extended Writing Task.

5) Leave some time to proofread your work before submission.

Section I

Short Tasks (30 marks)

In this section, you are required to complete three short tasks.

Task 1 (10 marks) Word Order

The words in the sentences below are mixed up. Put the words in the correct order. Add punctuation

marks and CAPITALIZE words where necessary. An example is given for you.

Example: always / a holiday / rains / it / we / when / have

It alwavs rains when we have a holiday.

D We owe woi(chihg a__mavie OUL }\Ov!s/

2)  Mum is_ mo¥ing Some  popcorh in the ltchen
0 popeorin il
3y Dad 1wl ede  dom L\ow’}e.o

4 We are aoing fo meet him  later o d“’\““"/“-v

J

55 1 }\DPe Tl ﬁop Yoining .

) Dad 15 hol home frm Lok
4) We ave  gowng to mééJC him  fov dinney ler
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Task2 (12 marks) Short Writing

You are writing a report about students’ favourite festivals. Use the information from a class survey

to write your report.

Favourite Festivals (Class 1B)

a class survey.

—

The most popular choice turned out to be (1) dr\inese New 'Yeab 1th (2) 14 (&

In class (e.g.) IB_, we wanted to know what everyone’s favourite festival was so we _conducted

s

—
Reasons for Choosing this Festival

Students from 1B like it because (3) Theu  con  vecejve (téé/{mcketé {rom Yeiofff \/EQ“'{/

_and (4) Hfﬂ don’td need +o %) ]Lo SCL\OO/
J /

PP

Top Three Activities 1B Students Enjoy /
Theu Ike  To xguJE 1Y) decopatiofis ~ because dew )ooksurc/e T},\et/\ [ike

ﬂt\/@&

fo ap to the  Pover markef  Als T)new e to visit their e
J \/ \/

(

_____________________________________________________________________________________________

Task 3 (8 marks) Proofreading

Correct the mistakes according to the following instructions:
o Underline a word that is incorrect and write a correct word above it.

o Mark the position of a missing word with a “*”’ and write the missing word above it.

e Put across ‘X’ on the extra word.
REMEMBER! There is only ONE mistake in EACH NUMBERED line.

Your friend Ben wrote a report about the Bali Kite Festival. He has asked you to

help him with the corrections.

FA ﬁzt the Bali Kite Festival
the
‘When is,\Ba ite Festiwval?

e A

music during thefestival. It is v ef;J oyed by all the participants.

O~ O v B W N

A
Thereare five types. Three arek/ir\?ew styles and two 1§ fraditional.

What\\impﬂ7 t the festwal" (\
During the %suval teams of pe S » giant kites. Prizes are given to t

\a
that have the best launch and the longest ﬂlght Bands also pfayﬁ iti
gg en

It is held ev y July It hg;(@ns for three to four days, and it is very popular.

efgms

ditional




Long Tasks (70 marks)

In this section, you are required to write your reply in about 150 words.

Section II

Answer Sheet/ S1/ENG 1/P. 3

BN -SSR NS NN

2
5
=
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Answer Sheet / S1/ ENG 1/P. 4

BRRARTRRANRAN

TRTNTENTDNENTAY

-END OF PAPER-


Ada Leung
文字方塊
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POK OI HOSPITAL TANG PUI KING MEMORIAL COLLEGE
FIRST TERM EXAMINATION (2015-2016)

S1 ENGLISH LANGUAGE II
QUESTION PAPER
Time allowed: 60 minutes
(PP.1-8/23)

Instructions:

1. The total score is 108.

The paper is divided into four sections— A, B, C & D.

Write neatly and tidily on the spaces provided in the Answer Booklet
Leave some time to proofread your work.before submission.

il o

ke ok sk oo ok she s ok ok sk ok she sk sk she ste sk she she sl sk sfe sk sk ofe st o sfe sfe e she sfe sk sfe sfe sfesfe she sk sk sfe sfe ol ofe sfe s she ohe s s ofe ohe sk ofe ofe s she she she o sfe sfe e she she sl sfe sfe sfe e sfe sl e sk s ke sk e sfe sk

~Section A Reading Comprehension (30 marks)
In this section, you read and answer questions about the texts.

Text 1 — You like pets. Your friend has cut out a story from a pet magazine for you.

Ben - the amazing dog

Uncle Tam was an old man. He lived on his own on a farm
in Yuen Long. It was far away from houses in the area.
He had no telephone and he seldom had visitors.

One Sunday in July 2003, Uncle Tam was very sick. He
could not move somuldn’t get anything to eat or drink.
There was no one that could help him.

From that Sunday to the following Friday, Uncle Tam lay on the floor of his room. He was very
worried. He thought there was no hope. On Friday, he found a piece of paper and wrote a note

on it. He put the note in a plastic bottle and threw it out of the window. He hoped that someone
might find it.

Did he have any luck? Yes, he did! A very intelligent dog called Ben found the bottle. Ben picked
it up in his mouth and carried it home to his owner. He barked at his owner until he called an
ambulance for Uncle Tam. Eventually, Uncle Tam got better, thanks to Ben — the amazing dog.

1. - Another title for this story could be...?
A ‘Dog saves master’s life’
@ ‘Dog saves man’s life’
C ‘Sick man puts message in bottle’
D ‘Lonely man finds his dog’
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2. Benis an amazing dog because...
A he can carry a bottle.
he took Uncle Tam’s bottle to his owner and made him read the note inside.
C he can write a note and put it in a plastic bottle.
D he called an ambulance.

3. There are some pictures that illustrate the story. Put them in the correct order. Write 1-6 on the

answer sheet. The first one has been done for you. (5 marks)

- . Siand R

.s.-sw.\;twf . C

2.5
i il

e

eete ot
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A2 - Answer the following questions using the information from the article.

Use COMPLETE SENTENCES. (12 marks)

1 GI}Z‘L did thlsn stgréi happen?
e 1 A
2 “P‘%%"aé’ Uncle Tam” szhouse?
ok, ot doise oS I fuen
3 dl(% gcle am hve with?
jve ong .
4 Why did Ben bark at
E}emm - Harted -
5. aragrapit
6. In paragrapsh lme
him’ reler Unele
7. In paragrapsh 3 Tm
8. Inl barkt

er‘7
ad the pite.
me 2, What does the underlined word “it’ refer to?

Woﬂat does the underlined word ‘him’ refer to?
W at "does the underlmed word ‘it’ refer to?

In parag@ph E lme 2, wilat dcoes the underlined word ‘his’ refer to?

“his" refors to Ben's.

Text 2 — You find a poem and a quiz on a classmate’s web page. Read the poem and then do the

quiz. (5 marks)

o
Laséng Friends

Samuel sings a noisy song.

Dave plays ping-pong all day long.
Ruby reads really long books.
Ciuz needs to clean and cook.

Gem goes shopping at the mall.
(é,élr,\y is extremely tall.
Mandy loves the countryside.
N
Desmond swims against the tide.
P

See my friends are super great!

Lasting friends are hard to find,
Fun and helpful, one of a kind.

Come and meet them, don’t you wait.

1. How many friends are mentioned in the poem?

S S

2. The poem has several rhyming pairs in the poem.
Find two. pairs and write them.
0h9 and Jong,
Mal and_tall”

3. According to the writer, friends...
@ are not easy to keep.
B meet each other all the time.
C always help people.
D don’t wait for you.

4. In the last line, ‘one of a kind’ means...
A the best ever
B great
C kind

: @ original

5. Write the names from the poem that match the
people in the picture. (6 marks)

/: Mahc(g
2: Gem
3: Desmond

4 Samue]
& Dave
6: R\«B\\/)
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Section B Grammar & Usage (58 marks)

B1 Your teacher asks you to make a photo book about your school. You are talking to your
partner Kimi online. Write the correct form of the verb in the bracket. (12 marks)

Kimi: Hi, (e.g.) _Are you __working _ (work) at the moment? | (1) Sent (send) you
some photos for our photo book last night} '
You: Ok, thanks. Let me check. Yes, I'm opening the first one now.
Kimi: It's the basketball court.
-You: Oh yes, | can see it. It's our basketball team. Which school (2)_&Y€  they ﬁ{ \\DJEO
D Mw_\g (play) against?
Kimi: They (é)axe b \M'mg (play) against Sunny Bay School. Here's another M
You: = Oh, look. It's Ms Lai. She (4)1S g'\vinﬂ (give) an award to the winners of the writing
competition.
Kimi: Yes, that's right. And look at the next one. (5) hQ you I(Hogl (know) this
person? .
You: It's you! (6) Are you \A&'\\r\(ﬁ (use) the computer to do your homewbrk?
Kimi: No, 1 (7) am ho‘t . (be) 'm playing online chess. We:sometimes (8) ch-tb‘e (practise)

it in Chess Club. Here's a photo of you and Sam!

You: | like this one!l We (9)are Sim:? (sit) in the art room. Look, we (10)ar¢ W\kmg (make)
Halloween masks. Koo X PM“" .

Kimi: The pictures are great. 7

You: Can you print out these photos for me? They (11)_al? hgl_ (not be) very clear on my
printer.

Kimi: Sure. | (12) om wintmﬂ (print) them right now.

You: = Thanks.

R e T P bR R T e = e 0 e T €T Y Faen R e T e S AL L IS T ssan

B2 Your friend is writing a blog entry about her new pet hamster. Help her write the correct
Jform of the REGULAR and IRREGULAR verbs from the choices in the box. Each word can only
be used once. (9 marks)

(o) gve Last week t g | W it
cdll w, my parents (e.g.)_ gave me a pet! We (‘1) Ne __to the
g0 pet shop and after looking at all the choices, I (2)_ cAosP a hamster.
get |l We also (3) gb‘(i a cage and some toys. He is really cute. Yesterday,
sof I (4)_made him a toy out of a sweet box. He (5) Joved itand
t . .

chooe (6)__ploxled _ with it all day. “

‘| make My hamster’s name is Fluffy. When my dad (7)_saw him at the pet
lofe shop, he (8)_said , ‘Look at the ball of fluffl’ So I (9)_called

e him Fluffy.

pléy




S1/ENG IVQUESTION PAPER/P.5

B3 Read and complete the sentences with the correct ARTICLES. Write a cross (X) if NO
ARTICLE is necessary. (9 marks)

e.g. Carolis _an  amazing ice skater.
I think that Hong Kong’s best restaurants are in_X___ Yuen Long.

Gary is wearing a hat and sunglasses because ﬁ/\e sun is very bright today.

Last year, students from our school went to ﬁﬂQ_United Kingdom for a study tour.
"EthEar, they will take @ EE to Singapore.

I’m trying to get _ 3/ _ tickets for myself.

People say it is better to book tickets from the  Internet instead of doing it at a travel agent.
Isaw j_)q_{_;bj:st deal on flights on a website called ‘Traveler Ted’.

I like my holidays to be _an  adventure so I go to outdoor places.

Somebody gave me _ai _ expired coupon to Ocean Park. Now, I have to pay full price.

=R N I P

B4 Read the interview about festivals. Write the correct word to complete the interview Gary’s
interview questions.
(8 marks)

Interview with an exchange student

Gary Ho interviewed Lisa Jones, an exchange student, about festivals in her country.

Gary:  Hi! I'm Gary Ho. I'm a secondary school student in Hong Kong and I
would like to ask you a few questions about festivals in your country.
Lisa: Ok, no problem. I'd love to share with you about festivals.

Gary:  So, (1)_uhere are you from Lisa?
Lisa: I'm from Meredith, New Hampshire. That's in the USA.

Gary: Ok (2) BM\X is your favourite festival? And (3) Hl’)\if you do
like it?

Lisa: © My favourite festival is Thanksgiving. Most Americans really like this
Jestival because they get to spend time with their relatives and have a big

dinner together. The festival is on a Thursday so there is a long weekend to
enjoy.

Gary: (4 I it always held on a Thursday?
Lisa: Yes, the last Thursday in November.

Gary:  (5) N }lvx home do you usually go to for the big dinner?
Lisa: =~ My Uncle Bob's home. He cooks a honey ham and a turkey.
—~——————

Gary:  Sounds delicious! (6) Whick meat do you like bez‘z‘ezﬁ turkey or ham?
Lisa: Ilike ham better. Turkey makes me sleepy. ‘

Gary: (7)) How long are you staying in Hong Kong?
Lisa: I’ll be here until the end of the school year in June.

Gary:  (8). Do you like Hong Kong?
Lisa: Yes! Very much!



S1/ENG I/QUESTION PAPER/P.6

B5 David is writing a letter to his pen friend Angel. Help him complete the letter. Choose the
best answer from four choices and write the correct letter in the blank on the answer sheet.
(10 marks) '

Hi Angel,

Are you having fun during _(e.g.) Christmas holidays? This year, I celebrated
Christmas in Hong Kong with _ (1) family. We usually stay in Hong Kong for
Christmas. For my parents, the Christmas holiday___ (2) only a few days so
they (3) __ get as many days off as I do.

I1_#4 a present for my brother. He is opening it now. I think __ (5) will
like it. It’s a portable speaker that works with __(6) phone. Now, he can play
music at barbeques! He __(7) loves to have barbeques!

skies. Winter is dry in Hong Kong. I hate it when it’s humid!

(9) are you doing for Christmas? Are you going anywhere?
Anyway, I would love to have you visit.__(10) will you have time?
That’s all for now.

This year, __(8) weather is nice. We are having another sunny day with clear E
David i

is

were
will be

are being

z




S1/ENG II/QUESTION PAPER/P.7

B6 Liz wrote a story about here best Christmas gift. Read the story Correct the mzstakes
according to the following instructions. (10 marks)

e UNDERLINE a word that is incorrect and write a correct word above it.
e Mark the position of a missing word with a “*” and write the missing word above it.
o Putacross ‘X to the extra word. ‘ '

[The passage is printed on the answer sheet.]

Section C Vocabulary (10 marks)
You are reading about the Dongzhi festival. Use the words in the box to complete the text.

/

try locq( food  Chinese Ney Year popylar tradit}tmal celeyréte scrumptious

stroll arguind exchang_e/p{esents modern bite mal}e/ wishes buy souvenirs.

FAQ@’s about the Dongzhi festival

celebrafe ,
‘When do people. __ (1)  Donghzhi?
It is celebrated on the shortest day of the year, around 22™ December.

How do the Chinese people celebrate the fes val PYes erte
They have a family get-together. They don’t excz 2 with each other like Christmas.
They prepare some food and eat together.

What do they eat?
PO {
In Hong Kong, a °h l% dish is glutmous nce as r&ost families prepare it. It symbolizes
B

0C0h

Scyw A0
reunion. Tt is ™ 14\)) U§o if you want ’colj (5) _, glutinous rice during Dongzhi is a must.

What else 1s important to know about Dongzhi?

One 14 Way to celebrate the festival is to go to the ancestral temple to WOl‘Shlp The ?ldel
. es
generation sometimes consider Dongzhi the beginning of the year instead of Chingse

How can a visitor celebrate the festival? S{VDU _—

People visiting Hong Kong dﬁring Dongzhi could __(8)  Temple Street. There should be

some shops selhn glutinous rice so you could try it. Temple Street has a lot restaurants and you
sw eHwvs - ]

can also _ from the many stalls that run up and down the street. It is easy to __ (1 5 ;

taxi from any hotel that you are staying at and every driver knows how to go to Temple Street.
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B3 David is writing a letter to his pen friend Angel. Help him complete the letter. Choose the best

answer from four choices and wrWrrect letteriyze blank on % answer sheet. (I%rks)

&

. _¢ 2 A KT T () s _BN
6. B 1 b /s/ D_ /f b 0. 8 /4

B6 Liz wrote a story about here best Christmas gift. Read the story. Correct the mistakes according
to the following instructions. (10 marks)

e UNDERLINE a word that is incorrect and write a correct word above it.

o Mark the position of a missing word with a “~” and write the missing word above it.
e Putacross ‘X’ to the extra word.

My Best Christmas Gift

the
eg. | Today, I want to talk about a best Chrirstmas gift that I ever reciced. It
my .

e.g. | changed ~ life for the better.

e.g. | One 'Christmas, my mum said I could¥o have a pet so iw{e::nt to look’at some
. Ot\ n W
1. pets with my dad. We went to a few pet shops but I didfipda pet that I liked.

_ con
2. Finally my dad suggested We,\adopt a pet. He took me to Hong

M / .

3. Kong Resc;?fgnisation that helps animals. We went thereand I was
Do :

4. surprised toSee so many dogs without homes. Are yo know what I did?

5. That’s right! I immediately ﬁ ‘

ove with one of the dogs there. She was so

S»\DYt
6. adorable and sweet. She was brown with very small Jéir.

To |
7. I 'took heryhome on Christmas Eve. Now, she li(ves with me and n% ily.
Jy _

8. Oh, I forgot to tell you }uS name. It’s Princess!

A o
9. I think having the petmu can learn how to be responsible and take

- ) 1S .
10. | care of something you care about. It have a gregt-€xperience.




PartD Phonics 10 marks)

Task 1 - Write the word beside the symbol. (10 marks)

1 fwod/ woocl 2 ffru : t/ feuwil,

3 Iskip/ g\c‘\p 4 [spo 1 1/ S{govt
5 /bed/ hed 6 /mop/ mop

7 fo 1kl fgy_lg 8 /mes/ mess
9/baki __back 10/sli:p/ _slees

END OF QUESTION PAPER

S1/ENG I/QUESTION PAPER/P.8



POK OI HOSPITAL TANG PUI KING MEMORIAL COLLEGE
SECOND TERM EXAMINATION (2015-2016)
S1 ENGLISH LANGUAGE I
WRITING
QUESTION BOOKLET

Date: 1 0 JUN 2016

Time allowed: 60 minutes
(PP.1-3/23)

Instructions:
1.  The total score is 100.
2. The paper is divided into Section A: Short Tasks (30 marks) and Section B:
Extended Writing Task (70 marks).
3. Write neatly and tidily on the spaces provided in the Answer Booklet.
4. You are advised to spend 20 minutes on Section A and 40 minutes on Section B. :

5. Leave some time to proofread your work before submission.

st st e she sheshe o she s oo she oo st stesteshestesfeofe sl ok sk sk sle sk sk ook sk sl skeslestesfeslesle stk sl slesfesleslesfesfefoleste s ssdekodolololokosfodol okt kb kool dokok sk ok

Short Tasks (30 Marks)

Task 1: Word Ordering (10 marks)
You are playing an English game called Word Ordering. Arrange them into correct sentences.

e.g. fun/hiking/is = Hiking is fun.

©® ©® 0 W

. of the trail / will / at / the bottom / hike / the / begin

o) 0 s@(@\x@

2. 1995 / kowloon walled city park / the /opened to / in / the public

Mo 0P PO O

3. the/to/how much / salt/ soup /add / did / you

[o—ry

@ D ) 0 3 9 R
4. will/ this / held at / year’s / swimming gala / yuen long swimfing pool / be / the

‘ BCRORNCN O
5. areferee/ difficult / being /job/a/1is/
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Task 2: Short Writing (10 marks)

Look at the following signs. Write an appropriate caption for each of them. The first one has

been done for your. Use the word(s) in the brackets to help you.

(quiet)

(buckle / fasten)

(hands)

3. ’(}\G \)\M‘}(\Q 4, N_&S\\ ‘ﬁ""“ hm\ds.

(mobile phone)

5. Mo yable phune

Task 3: Find and correct the errors in the passage on the answer sheet. (10 marks)

Correct the misfa‘kes according to the following instructions:
© Underline a word that is incorrect and write a correct word above it.
- ©® Mark the position of a missing word with a “*” and write the missing word above it.
@ Put a cross ‘X’ to the extra word.

REMEMBER! There is only ONE mistake in EACH NUMBERED line.




Task 3: Find and correct the errors in the passage. (10 marks)

Correct the mistakes according to the following instructions:

© Underline a word that is incorrect and write a correct word above it.

S1/ENG I/P.3

® Mark the position of a missing word with a “*” and write the missing word above it.

® Put a cross ‘X’ to the extra word.

REMEMBER! There is only ONE mistake in EACH NUMBERED line.

My favourite team, the Tai Po Tigers, had,\excellent game last week against

o

2 the Yuen Long Farmers. I thought they would lose by ten and fifi€en points
3 because the Farmers are g4 extre(@y good team, but the Farmers don’t play
4 well at all. The Tigers won by more than)x{ t@«t points.

wile G >@
5 The Farmers were quiet good in the first half, 'l@;j,r best player, Max Kong,

ard O\ . mony
6 made ﬁvel\three-po ots at the beginning of the game. How muchpoints
msed . gho

7 ‘did he score‘7 Only fifteen points! He rmss every shot ds. He didn’t

—

un
8 score s@ge %eobaskets for the rest of the game!

NS fobmne
9 The best player for the Tigers was Big Dave. That i 1sAm knatne because he is
&M eom\3
10 tall Am very long arms. He scores points very easy:

Hope the Tigers win their next match! Goodbye fans!

K
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Extended Writing Task (70 marks)
In this section, you are required to write an essay in about 150 words.

My fowourle  restousant,

My - ourle velawal s in \{u&y\ \,ov\o\\‘ Ui m’( R
T oy howe - T always 90 fhee t hove  dinner wﬁb/w\%

W because. e ol ke eoi(v\o\ f)&bm\ese A (/?/ dehiciows -
T ohwogs  oder  Hhe o moA e Sﬁmo\ow\%hmd

come  suchies . The Sowp  hoodles m 1S vey  sally %\f& 1
i - J J

——

S dve it My fwaife s dem e o) Topen L it s very
3 e ——— =S J

scrumplious ' Tt Awode  bu Some  padveosres godd  and it ks very

bech .

Mo Yowdy  ond T ke Ying, fo_ thie e to Vv dimner
J J ) -
becowse the  God e Beds o) ﬁus/ Cheap , il cosJ( ohlu $3

ko

br o suh o\r\«l the  sedls  ave comfoﬂtobhe// s peos J(o 90 y

H 0%\ n\w\\e\r 3E\l\e Svm/ Y\m:\eq and \Jﬁ is famous ?ilr\

30\?0\\(\ PR J[oolr/ spicy . Mum_ond fay e oot eod

{oo ey

H\\ev\ W \\o\\m Sopee. Sheo\c\\ Qef\\\m\ W J{O Ce €\oY0(\("

e ase W Toke n\ocg heve . Thg YeSlfa\\uwi& howg Aé/

'—‘\__._/f
WY MEmOY (RS -

S itk by bovowtte  dourant \ /
v




POK OI HOSPITAL TANG PUI KING MEMORIAL COLLEGE
SECOND TERM EXAMINATION (2015-2016 )
S1 ENGLISH LANGUAGE II
OUESTION PAPER

Date: 13 JUN 2018

Time allowed: 60 minutes

(PP.1-6/23)
Instructions:
1. Answer all questions in the answer booklet.
2. The total score is 120.

iPart A Reading Comprehension (30 marks)l

I’Text 117 marks)l

Read the article about Valentine’s Day in different countries. Then answer the questions.

Valentine’s Day Around the World

Japan

In Japan, many girls love to shop for chocolates before
Valentine’s Day because girls usually give boys chocolates.
Close male friends get ‘friendship chocolate’ gifts on this day. It
is also common for students to prepare some chocolates for their
5 | classmates and teachers. People give chocolate to their
workmates and their boss. Special chocolate is given to the most
important person, often the husband or sweetheart.

Korea

Like Japan, girls give chocolate gifts on 14 February to their male
10 | friends. Exactly one month later, Koreans celebrate White Day,
which is the day for men to give girls something white in return,
such as white sweets. Then, the 14™ of the following month is
Black Day. This is a day for single people to get together.

UK

15 | In the UK, Valentine’s Day is about love. School children cut out
paper hearts to make Valentine’s Day cards. They give them to their
friends and teachers. People in Wales also celebrate St Dwynwen’s
Day, the Welsh Valentine’s Day. It is traditional for couples to give
each other a set of carved wooden spoons. So, if you fall in love in
20 | Wales you give your special person a ‘love spoon’.’
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[Text 2 (13 marks)l

Read the poem and answer the questions.

10

15

20

My teacher took my iPod

My teacher took my iPod.
She said they had a rule;

I couldn’t bring it into class
or even to the school.

She said she would return it;

I’d have it back that day.

But then she tried my headphones on
and gave a click on Play.

She looked a little startled,

but after just a while

she made sure we were occupied
and cracked a wicked smile.

Her body started swaying.

Her toes began to tap.

She started grooving in her seat
and rocking to the rap.

My teacher said she changed her mind.
She thinks it’s now okay

to bring my iPod into class.

She takes it every day.

—Kenn Nesbitt

[Part B Usage (70 marks)|

Task 1 (8 marks)

S1/ENG II/QUESTION PAPER/P.2

Complete their conversation with ‘some’, ‘any’ or X'. Capitalise where necessary.

Nina:

Jane:

Nina;

Jane:

Nina:

Jane:

Nina:

Jane:

Nina:

Jane, have you got (1) _ An

Yes, I've got (2) 30ME . Do you need anything else?
Yes, I want (3) Some. flour too. Have you got (4) m\ﬂ Skg bags?

I’'m sorry, they don’t come in (5) X that size.

Well they’ve got (6) __S0WE,  smaller bags on that shelf over there.

Oh yes, let me get two bags.

I think I need (7) _Qom€,  eggs too.

Would you like a carton then?

No, I don’t need (8) gm% eggs. I just remembered that I bought some yesterday.



S1/ENG I/P3

Extended Writing Task (70 marks)

In this section, you are required to write an essay about your favourite restaurant in about 150
words. You can use the mind map below and/or your own ideas in your essay.

REMEMBER TO GIVE A TITLE TO YOUR ESSAY.

{ocO\\Q L\

0

reasons why

I like it o

noodles

 New

Territories

near my home

where it is

Myf;favouri‘l’e'
. ‘restaurant

Japanese

Types of food
it serves

END OF PAPER
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S1/ENG II/QUESTION PAPER/P.3

Task 2 (10 marks)

Brian is helping his mother buy some food at a grocery store. He is talking with the shopkeeper.
Choose the best answers and write the correct letter in the blank. The first one has been done for you

as an example.

Brian: (e.g.) A any eggs?
Shopkeeper: Yes. (1) _ would ydu like?
Brian: Two dozen, please — 24 in total. And do you have any lemon tea?
Shopkeeper: Sure. (2) cartons do you need?
Brian: Half a dozen — six, in other words. How about (3) ?
Shopkeeper: Yes, we have some. (4) would you like?
Brian: Two kilos, please. Do you have any potato chips?
Shopkeeper: Sure. (5) bags would you like?
Brian: Three bags, please.
Shopkeeper: Anything else?
Brian: Well, I need some (6) too.
Shopkeeper: (7) would you like?
Brian: One litre please.
Shopkeeper: Do you want any (8) ?
Brian: Yes, I need five (9) . (10) does that come to altogether?
Shopkeeper: That comes to $86. Thanks a lot.
e.g. A. How often 2. A._ Howmuch 3. A. rices
B. Isthere B. How much @ How many . rice
C. Doyou C. ) How many C. What C. arice
4. A. How .5. [A) How many 6. A. milks 7. @ How much
How many B. Howmuch B. amilk B. How many
C./ How much C. How wide @ milk C. How
8. A, fruits 9. A. orange 10. How much
@ fruit B. apple B. How many
C. afruit @ apples C. How far

Task 3 (10 marks)

Complete the following story by choosing the best word from the box. The first one has been done for

YOu.

on

across - in at 7

to ~

out /'

off 7/ /

down / up near

Ms Brown left for work early this morning. She was walking (e.g.) _along the street, she was

stressed because there were 5o many people around. She went (1) ]\

sandwich for her breakfast. After coming (2) OV«,

a shop and bought a
of the shop, she walked (3) Tt) the bus
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stop and waited for the bus. When the bus arrived, she noticed all the passengers getting (4)
O‘& before she got (5) OV the bus. The bus wasn’t crowded so she sat (6) c\owt\ .

The bus arrived (7) Qt Tsim Sha Tsui at 8:55 am. Ms. Brown was worried that she would be
late for work, so she started to run. She ran (8) 0SS a footbridge and arrived at her building.
Unfortunately, the lift was out of service! She walked (9) __ WD _ the stairs to the 15™ floor.

After that tiring walk, she really wished that she lived (10) _N€0Y  her office.

Task 4 (10 marks)

Complete the following passage by filling in the blanks with ‘and’, ‘but’, ‘or’ and ‘so’. The first one
has been done for you.

Exercise and Die

Candy does not eat healthily. She likes eating chicken wings, burgers (e.g.) _and_ French fries. She does not like
to eat any fruit (1) __ OC vegetables. She is overweight (2) __SQO she wants to do more exercise.

It is important to exercise 3) ggn& have a healthy diet. A balanced diet means eating the right amounts
of the right food (4) blg& ; many people eat too much junk food. Junk food is so easy to buy and it’s ready

" toeat.

Fruit (5) OJAA vegetables don’t give you a lot of energy (6) \N—L they do have a lot of vitamins.

The department of health suggests eating at least two servings of fruit (7) @(\A three servings of
vegetables every day.

Water is an essential element for everybody’s body. You should try to drink about eight glasses of water per

day. Don’t drink too much soda (8) j)‘( fruit juice because they have lots of sugar. Anyway, water is

cheaper (9) SO ____you will save money.

Exercise (10) N/\C\ getting enough sleep keep iliness away.

Task 5 (10 marks)

Jack is writing about three of his good friends. Complete the following text by choosing the best word
Jrom the box. The first one has been done for you. Each word is used ONCE only.

well liked 7 patiently _- well 7 excellent slowly 7
hard / really fast —~ extremely easily ,

Mark is (e.g.) _quite short but looks good for his height. He is a very nice person. He (1) YGOLn
likes helping people in need. He has been a Boy Scout for three years. He is (2) \é(’,\\ \\\&A by all his
classmates and teachers. He studies very (3) bgy(A too.
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Bill is a swimming champion. He can swim very (4) %7\51(. . Sometimes, he shows me how to
improve my swimming because I want to swim faster. He teaches swimming very (5) \Jﬁ! } .
I think he would make a good swimming coach. After swimming, we are exhausted and starving.

Swimming makes us (6) @f&‘ftm@\% tired and hungry. So, we always get some noodles from a
small shop. The noodles taste (7) \\QV\‘)J !

Paul has been my friend for 10 years. He is kind hearted and doesn’t get angry (8) \\ .
Yesterday, we had to wait over 35 minutes for a taxi. The traffic was moving so (9) $lp\ N

hated it but Paul waited (10) 0 m’nw&\g and read a book.

~ Task 6 (12 marks)

Complete the following passage with the correct forms of the verbs given in brackets. One has been
done for you as an example.

Ocean Park (e. e) one of the most popular tourist spots in Hong Kong.
Ever;{day, it (1)(a act) thousands of tourists. Ocean Park is an amusement park

0\ .
d that has spec1a1 attractions. People love visiting Ocean Theatre to (take)
photos of the seals However, sometimes the weather ;3} (not be) very good. It can be super hot

or rainy.

wre
Last Sunday, some friends of mine planned to go to Causeway Bay. They _(4) (be) excited because

N
they had not been there for a long time. When they _(5) Og\arrive) it was so crowded they couldn’t
move. Do you know why it was so crowded? It was because they were filming a new ‘Batman’,

movie. They (é) ‘enot see) any famous actors but they _(7 2 otice) Batman’s car. They _(8) decrded

(decide) to leave because it was so crowded.
& Lo
Tonight, my cousin _(9) (come) over to my house. He _(10) (want) me to help him with his

homework. My mum _(11) (leave) now SOI} she won’t be home when he arrives. I _(12) (be) happy

to see my cousin. If we finish the homework quickly, we can play LOL together!

Task 7 (10 marks) - Proofreading

Correct the mistakes according to the following instructions:
® Underline a word that is incorrect and write a correct word above it.

@ Mark the position of a missing word with a “*” and write the missing word above it.
@ Put a cross ‘X’ to the extra word.

REMEMBER! There is only ONE mistake in EACH NUMBERED line.

THE TASK SHOULD BE COMPLETED ON THE ANSWER SHEET
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IPart C Vocabulary (10 marks)

Tommy is writing in his diary about the summer camp that he is goz’ng to. Fill in the blanks with
correct words from the box.

spicy / coach / skilful” savoury medal racket.”
gymnasium / sweet / tournament.” sour / tour fantastic
Dear Diary,

I signed up for a summer camp. During the camp there will be many activities. I'm going

to have badminton training every morning at camp so tomorrow I’'m going to buy a new
¢)) m,dﬁe't and some shuttlecocks.

Our badminton (2) ('.O%C\!\ is a famous player. She won the silver (3) MﬁAD\\ at
the 2002 East Asian Gaines She is a very (4) S\L]\Qw\ player. There will be a
badminton (5) hamﬂv{g»o The champion will win a big trophy. I have never won a
trophy before so I’m.gomg to the (6) %3 m hadiwrevery day to practise.

In the aftemoon I will have a cookmg class. We are going to make dishes from different
parts of the world such as (7) curries from Malaysia, (8) S\I\‘f’f/t
desserts from Thailand and (9) @ SQVOW%}eat pies from the UK. I’'m so excited!

It’s going to be a (10){@5@(321 {C  summer!

[Part D Phonics (10 inarks)l

Task 1 (6 marks)

Write the word from the box that has the same vowel sound as the word in the bracket.

write rock name sweet pig pet port fat

2 (dream) SUeEL, 3 (pot) Ld(____

_m_
4 (fork) Eoﬁ 5 (men) PC!, 6 (fan) F@K/

wm

Task 2 (4 marks)

Write the word beside the symbol.

1/ti:m/ fem 2 /fo:m/ 'FDYWL 3 /boks/ 00[( | 4 /hem/ h@}m

END OF QUESTION PAPER




POK OI HOSPITAL TANG PUI KING MEMORIAL COLLEGE
SECOND TERM EXAMINATION (2015-2016)
S1 ENGLISH LANGUAGE II
ANSWERI] BOOKLET

- Date: 13 JUN 2016

Time allowed: 60 minutes
(PP.1-5/23)

Instructions:
1. Answer all questions in this answer booklet.
2. The total score is 120.

IPart A Reading Comprehensionl

Text 1 (17 marks)|

Decide which of the following statement is true about Japan, Korea or the UK according to the passage:.
BLACKEN ( ® ) the appropriate circle for each statement. You can blacken more than one circle.

Japan Korea UK

1. Single people celebrate Black Day. O

2. People give each other spoons. O O

3. School children give cards. O O

4. Bosses receive chocolate from their employees. s ®

5. Valentine’s day is celébrated on 14 February. ﬁ/ o
o | &

6. Girls usually give chocolates to boys.

o)
e
o~
o)
el
O

Answer the following questions in complete sentences.

7. In which part of the UK do they give ‘love spoons’ as Valentine’s gifts? O

B thew Gl e in Woles ond  they wil\ q\ve \Aave SPORS 0 \/a\ev‘\\me's 3!\%5

qut oive - ensh ofher Tove sposns n Nﬁ’es)
8. How oreans celebrate White Day?

The men in Koveaﬂf will _give somet‘mc\ Ghile  in tt um/To/ a‘w\s(‘-

9. Which two things do people around the world give each other for Valentine’s Day?

Peop\e 3}\/8 C}\SCO/JQ/ or SwecJ[s Yo each oﬂ\@v for Valertine Sﬁu

10. In line 9, what does ‘their’ refer to?

“their ve%rs W paids’ . >O (I velers to So\weSQ 5 : g

11. In line 16, what does ‘them\tefer to?

Cthem' tefors To  the pader heols . b ©\
Text 2 (13 marks) Qt @fys To VilerTine” s Do‘f} Cowds )
Answer in complete sentences. '
1. Why did the teacher take the iPod? (BCCClikSﬁ \PDO\ aye hoj( allowed lﬂS ;
becouse  the fencher ’E\\oug\i\/ fhe Pod had o vde and co An bre, it ‘m"o\/zﬂfs
' “or School .

2. Ho%;v often does the teacher take the iPod after she changes her mind? c
The feocher fakes the  iPod every dowy. - / L '
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S1/ENG IVANSWER BOOKLET/P.2

it’s good to have mobile phones in class? Give a reason WG/\\J{ answer. V
M N

Crouse  the  wmolile ?\\ovxes Wl make  us cond powt c@oss oy
— dm‘mg fhe

4. In line 9, what does ‘startled’ mean? SSONS .

OA«Happy

B. Surprised
OC. Angry
OD. Sad

5. In stanza four, what is the teacher doing?
OA. Singing
OB. Laughing
OC. Crying
. Dancing

6. The rhyming pairs in the first stanza are rule and school. What are the other thyming pairs for the next four
stanzas?

stanza 1 e.g. stanza 2 / stanza 3 ﬁanza 4 L/ stanza 5
l . .
e Top ka"u/

rule - dow T : o
_school - low / / Spnile. Yap ¢ day”
) vl [ — \ . ==
lPart B Usage (70 marks)l

Task 1 (8 marks)

Complete their conversgtion with ‘SO”W X CapitaliWessam
1. any /{ (mj > ‘
J f
U .

2. _ Some 3. Somé 4. A

5. X / 1 7 sme 8. __on
(,gmv@?o . SR C’/
Task 2 (10 marks)

Brian is helping his mother buy some food at a grocery store. He is talking with the shopkeeper. Choose the
best answers and wrife the correct letter in the blank. The first one has been done for you as an example.

1. 2. & 3. [B 4. _ ¢
5. } 6. C 7. A 8. B
R R ()

Task 3 (10 marks)

Complete the foélo&wing story by Choosilerd ﬁ'om.the %’he Jirst one has been done for you.

ear YO () g~

1. 'to ' (ml O\A‘t, - S N4
5. on /6 ~down L/: A — 8.
9. . wD [ A n Y\@D

- (heot)

ALY{SS
N
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Task 4 (10 marks)

Complete the following passage by filling in the blanks with ‘and’, ‘but’, ‘or’ and ‘so’. The first ope has been
" done for you/ / /
1. oY T 2. SD{ 3. w!\A [ 4. })\;kt, | /
5. and 6. bk ~ 7. - ond 4/8 ot ol

9. 80 10, ond

Task 5 (10 marks)

Jack is writing about three of his good friends. Complete the following text by choosing the bestword from the
box. The first Wone Jor you. Each word is used ONCE only. /
Lo 2 yell  liked

3, '\f\o\g e - 4 Past

7. well //\><> Bicel WﬂL) 8. exz.s‘t\\j 4 _

9. Sowly_ - 10.__paently //
Task 6 (12 marks)

Complete the following passage with the correct forms of the verbs given in brackets. One

you as an examp;;/
1. 0-\\;(\/Y S 2. TOJKQ_

s been done for

3. is ot ‘ 4, Were /

5. owvived [ 2 6. couldnt  see [~ |
7. hiliced _ g éCCM [
9. Cames \\/‘><> (13 COYY\"MS\) 0. uan’&s_ ' |

e’
11. 1S \Cav'me\ 12. oum /
IV [
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Task 7 (10 marks) Proofreading

Read the following blog. There is ONE mistake in each numbered line. Correct the mistakes according to the
Jfollowing instructions:

o Underline a word that is incorrect and write a correct word above it.
e Mark the position of a missing word with a “*” and write the missing word above it.
e Put a cross ‘X’ on the extra word.

REMEMBER! There is only ONE mistake in EACH NUMBERED line.

12 January, 2015

Hong Kong Food Blog

a

e.g. | My friend took me to the French restaurant last night.
to
e.g. | It was my first time " have French food in Hong Kong. The one we went

e.g. | to was innWanchai. The place was quite small and it was h¥ve decorated

some ) quile,
L. w1th(\beaut1 paintings. It was ¢pfiet noisy, although the restaurant generally
WS - :
2. looked nice. Both of,gloni{:id/wf?rewh, so we had to rely on the English
® v
3. | description of the foods. rdered mussels in white wine. It is a famous

4. French dish. I don’t V}i{ry like spafood but I thought it tasted good. My friend

- 0
5. didn’t like it. He thought it wasj“gg

wéeﬁ%k
6. For dessert, we orders ice,creapa’crepes. It had coffee ice crey
Was :
7. pineapple. My friend did not like it because the pineapple is fietfresh;
; . sl
8. it was from a can. I thought it was a bit too sweg

. m‘oo\i-\,
9. Including the daily soup, we ended Lé}/’ééaying aroun 0 plus a 10%
S WA

10. | service charge. I thought it,\expe Siye/but I would go there again.
: . A :
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tPart C Vocabulary (10 marks)!

Tommy is writing in his diary about the summer camp that he is going to. Fill in the blanks with correct words

Jrom the box. /
' &
racket -l/ /

1. 2. coach

3. medol 4. sl
5. Towrnoment, | 6. QUM NASIIAIR

- N
7 Spicy - 3. sweet, |
11 -~ L/
9. SOWC }(,) (Suv 0‘”‘\‘) ) 10. \}as'\oxs*ic
IPart D Phonics (10 marks)l

K W
Task 1 (6 marks) L L1 a9
Write the word from the box that has the same @ound as the word in the bracket.

write - 1ock name sweet pig pet port fat
(win) C/ (dream) ng!‘(_\ é SNQCJ(‘} 3 (pot) WQ
4 (fork) PO‘(t / (men) 6 (fan) ‘%0-\‘[1
Task 2 (4 marks)

Write the word beside the symbol.

: : S
Sfo:m/ -co\rw\[ /@s/ bod be 4 [hem/ houm

1/ti:m/ _ Yo _

END OF ANSWER BOOKLET




POK Ol HOSPITAL TANG PUI KING MEMORIAL COLLEGE
FIRST TERM EXAMINATION (2015 -2016)
S.1 MATHEMATICS I

~ Date: 4 g JAN 2016

Time Allowed : 45 mins.

(P.1-P9/44)

INSTRUCTIONS

1.

ANSWER ALL QUESTIONS. You are advised to use an HB pencil to mark all the answers on
the Answer Sheet, so that wrong marks can be completely erased with a clean rubber. You must
mark the answers clearly; otherwise you will lose marks if the answers cannot be captured.

You should mark only ONE answer for each question. If you mark more than one answer, you will
receive NO MARKS for that question.

No marks will be deduced for wrong answers.

The total score of this paper is 40 marks.

Section A (26 marks)

1.

Which of the following expressions gives a negative value?

A (B)H+

B. (-3)=(-4) —

c =2 .
—4

D. (<3)+(-4) +

(+3) = (-3)x (+3) =

A 12
B. 18
C. -6
D. =12
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S1/MATH 1II / P2
‘Which of the following must be correct?
L. 0isapositive integer. X
II.  10.5 is an opposite number of —10.5. /
III. A negative number is smaller than a positive number. ,/

A. Tonly

B. I only

C. IIandIII only
D. TandIIIonly

—1.2, x and 2.1 are three directed numbers marked on the horizontal number line below. Which of
the following are possible values of x?

-2 — x | 21
)

L. 22 I 1.1 o -2.1 Iv. -0.12
A. Tand Il only

B. Tand IV only

C. IIandII only

D. ITandIV only

If a=-3 and b =4, find the value of (a—-b)(a+b).

AT
B. -1
c. -7
D. -49

A. 48 .
x—5

B. —
48-5
c. 5-38
X
p. B ;s
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How many 20 cents stamps can you buy with $44 ?

a X
20
B. 2M
C. 5M
D. 20M

. NS
Consider the sequence 2, 3, 5, 8, a, 17, b, 30, 38, 47, ...

Find the values of g and b.
A. a=11, b=22
B. a=11, b=23
C. a=12, b=22
D. a=12, b=23
Solve the equation 5% =8.
A, x=10
B. x=12
C. x=-10
D. x=-12
x—3

=6.

. Solve the equation Z_
2 4

A. 21
B. 27
C. 30.
D. 36.

. The perimeter of an equilateral triangle is 39 cm. If the length of one of its sides is (2x + 3) cm,
find the value of x.

S oWy
% < o




12.

13.

14.

15.

16.

o0owp

71X S1 / MATH 1I / P4

‘The price of a pen is $0.5 less than three times the price of a pencil. If Kelvin pays $86 to buy 12

pencils and 8 pens, find the price of a pen.

A. $25
B. $3.5
C. $5
D. $7

4.5% of a number is 9. What is the number?

2000

200 43 4.7
20

2

O aowy>

y%x200% =

A. 200y

The marked price of a table is $2500 and the selling price is $2000. Find the discount per
cent,

K/Uovglwz

15% 7500
20% |

25%
30%

The cost price of a book is $200 and it is sold for $160, Find the loss per cent.

v
A 20% gg%%; %19@/4
B. 25%
C. 75%
D. 80%



17.

18.

19.

20.

21.

S1/MATH II / P5
The price of a lamp is increased from $120 to $156. Find the percentage increase in the price.

¢ - V2 00 7o

A, 20% \

B. 25% W
C. 30%

D. 35%

Choose the appropriate unit for each of the following measurements.

Length of apen Height of a building Length of a highway

A. m L km cm
B. cm y km m
[
C. cm / mv km ,
D. km cm m
Round off each number in the following expression correct to 1 decimal place, then estimate its
value.

35.175—25.857 + 11.345

A. 20.0
B. 20.6
C. 207
D. 21.0

In each of the following, determine whether the number recorded in the news reports is the exact

value or an estimated value.

I.  In 2014, the number of visitors to Hong Kong reached 60.8 million. &0 %
II. At present, the members of the Executive Council consists of /5 non-official members.

I I
A. Exact value Exact value
B. Exact value Estimated value
C. Estimated value Estimated value
D. Estimated value Exact value

In the figure, POQ is a straight line. If ZROT = 84° and
ZPOR = /TOQ, find ZPOR.

R T
o ? ? ’/q.t?o
A. 40 o'~ Tt N 840
B. 48° ST, Q
C. 60° o) |
D. 72°
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22. The angle through which the minute-hand of a clock has turned from 10:05 a.m. to

10:25 a.m. is

A. an acute angle.
B. aright angle.

C. areflex angle.
D. an obtuse angle.

23. Which of the following sets of angles cannot be the three angles of a triangle?

20°, 80°, 80°
23°, 520, 105V

40°, 47°,103° 7\ Ay
1°,2°,177° /

O owp

24. Find x in the figure.

A 330 .
B. 37° o' - o -1
C. 40°
D. 43°

25. Which of the following solids does not have uniform cross-section(s)?

A. ‘ B.




26. Which of the following figures is /are convex polygon(s)?

L 1L : ML

< L/ ¥

IIT only

Tand IT only
II and III only
I, Il and 11T

S AW p

Section B (14 marks)

27. Ifx — 2 is a negative number, then which of the following must be negative?

x-l\/

X

x-3 ./
3x

oo wp

28. If x=-2, find the value of xX’—J%2+x.

Tawp»
|
(@)

29, Consider a sequence with the general term 2n* —1.
Which of the following is NOT a term in the sequence?

A1 f
B. 7
c. 11
D. 31

30. Simplify —~a—a-a-a.

S1/MATH II / 7




S1 / MATH II / P8
- Simplify (2x)(=»)(=x)E»)(x) .

A, 6xH
B. ~6x2y
C. 6x%)*
D. —6x%°

. Solve the equation (3¢+1)-2(c-2)=-(Bc-1).

A, ¢c=-1
B. c=—~1——
2
C. c=1
D. ¢=2

. Peter buys 40 apples. He eats x apples every day. After a week, there are 19 apples left. Which of
the following equations can be used to find the value of x?

A. x+19=40
B. x—40=19
C. 7x+19=40
D. 7x—40=19

. Peter bought a box of 80 oranges for $200. He found that 25 oranges were rotten and the rest
were sold at $3.6 each. Which of the following is true?

A. Peter had a profit of $20.
B. Peter had a profit of $2.
C.- Peter had a loss of $2.
D. Peter had aloss of $20.

. Mr Lee gives some balls to 22 children. Each boy gets 4 balls and each girl gets 5 balls. Which of
the following numbers cannot be the total number of balls?

A, 85
B. 90
C. 95
D. 100



36.

37.

38.

39.

~ 40.

S1/MATH II / P9
The scale interval of the following ruler is

|l|ll]llll|lllll|lll]§
1 2 3 4

Ocm
A, 0.1cm.
B. 0.2cm.
C. 0.5cm.
D. 1ocom.

x and y are two numbers. It is known that x is 25% greater than y. By what percentage is y

less than x?
A, 15%
B. 20%
C. 2%
D. 30%

A coat is sold at a discount of 30% for $2100. Find the marked price.

A. $3000 y
B. $5000 2100 - OF
C. $7000
D. $9000

In the figure, ABC is a triangle. ZBAC =35°, ZDBC = 25° and £BCA = 40°. Find ZABD.

A. 65° 268 oso
B. 70°
C. 75°
D. 80° .
35° \ 40°
A D C.

Peter estimates 24.5 + 26.1 +25.6 +23.9 = 100. Which estimation strategy has he used?

Rounding up each number to the nearest integer%
Rounding down each number to the nearest integer(t
Rounding off each number to the nearest integer

oow

Rounding off each number to the nearest ten

— End of paper —




POK OI HOSPITAL TANG PUI KING MEMORIAL COLLEGE
Second Term Exam (2015-2016)

S1 Mathematics I

Date: 1 5 JUN 2016

Time: 60 minutes

(P.1-P11/47)

]
O]

Instructions to students:
1. Answer ALL questions on the spaces provided on this Question-Answer paper.
2 Unless otherwise specified, all working must be clearly shown.
3. The diagrams in this paper are not necessarily drawn to scale.
4

Total score of this paper is %ﬁ marks.
: 8

Section A (30 marks)
Question 1. ~

Simplify the following expression. (2 marks)
Qw?)(=3w*)(dw*)

R RIG TR
= -
/

Question 2.

In the following, T}, is the general term of the sequence. Find the first 3 terms of the sequence.

(3 marks)
T,=5n
= 5U) 2-50) T = 5(%)
=5 = 10 5
/7
Question 3.
Solve the equation 9+ 6x =21 (3 marks)
At =21
b = -U-4
b= -30
** 5 /
Question 4. /

Peter’s monthly salary is $8200. If he saves $984 every month, what percentage of his
monthly salary does he save?

Perc;vmf, & hie w\uﬁﬁ\\\‘\ 00 odru
R

(3 marks)
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Question 5.
(a) Round up 3.1416 to the nearest integer.
(b) Round off 3.1416 to the nearest integer. (2 marks)

o) 4
b3 e
/

Qﬁéstion 6.

By.rounding down each number to the nearest ten, estimate the value of

342+ 187 + 251 + 628. (2 marks)
¥ pI8105] $08

= 40 T ()50 th28

=B/

Quesﬁon 7.

Determine whether the following figure : has rotational symmetry. If yes, put a ‘x’ to indicate
the centre of rotation, and write down its order of rotational symmetry.

- fold rotational symmetry (2 marks)

Question 8.

Draw the image of the following figure after reflecting about XY. ( 2 marks) -

\
N
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Question 9.

In the figure, A4BC~ APQR. Find the unknowns x and y. (2 marks)

Question 10. /

In the figure, find the length of the line segment AB. (2 marks)

¥
'\

0 X

A=2,-2) B(4, -2)

The, \engﬁ\ of the line seqmed AR
4- () »

Questibn 11.

Find a in the following figure. (2 marks)

ot W+ = 3b0° (s b opl)
o= 3be - - (bo®
o= Jb’ /
/

7
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- Question 12.
In the figure, AB // CD and EPRF is a straight line. Find x. (2 marks)

e
I
10 1 = 1 Yt

) 10 \_/.{}

Question 13. - | v _
In the figure, 4B // CD and PQORS is a straight line. Find x and y. (3 marks)

A C~
780 /
P Q/ R s
s

B

W=y Gk o))
x=18°

wty = Bo° (N‘\\, LS s sl fne)
Bu =W

> \3 =W ’_l%g
\j -

oy

N
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Section B ( 28 marks) -

Question 1. :
In the figure, BE // CD and ABC is a straight line. ~ BCE =35° and £ ABE = 60°.
Find x and y. (4 marks)
A
/
5 >y E .
35°
c X > D

bo° 2 35 I (eany. 15 o . ne)
1= by 3%
)L = 150 /
-

y=x (it —es—prst—tme) .
S A
Question 2. T
Simplify the following expressions. (5 marks)
6x>x7x° -
@) 2x°
®) 67y = () . |
0 b x‘\h : b ™ X w- X L—\{g[‘)
2'1 :_ ()\;\l Ly (' \l'*{\
- 2oy b8 Y3 v/
!}ch'/ =L 4 < [- '4\
- 5 ‘/ Uu - lj y
_ m ] ‘r\v - (D‘jq
A g
p
S A () .5 yd
) 4
TS S
/N
Y AT
(3 ex T
. =T
L 1t
Al b
=3
_ )
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Question 3. /
(a) Expand  (x+5)(x + 12)

(b) Expand (-3y)(2x—5y +6y?)

(¢) Simplify (6x*>—8y+5)—(7y—4x>-7) (6 marks)

o) Ou5)(ad)

=y Ot 5 O

= 1" HUF 50t bo _

= 4 Ty tho
) Cdu) Ox- SMT(M‘)

—LU\)L‘\‘ \5\4 - 13\4 o
= 48‘,‘3 T 53 'Q\i)o& (
0 (b -8y 15)-(Ty - ™D

= (% 'XM’V'S 'lv\ WLAALH

- byt *3\4 "(uT‘Tﬂ
= K - D 112

2

e

=

Question 4.

The stem-and-leaf diagram below shows the scores of a group of students in an English
test.

Scores in an English test
Stem (10)  Leaf(1)

8 v
9

0~ O W

7
0
1
0

N NO

1 3 78
2 56 86
5 8 4

&
915 \

(a) How many students are there in the group?
(b) What is the highest score in the test?

(¢) How many students have a score of 60 or below? (3 marks)
0 20 studeit
) %45

04 udeds
P

—{)
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Question 5.

The figure shows a quadrilateral with vertices P(=9,7), O(-9,2), R(5, 2) and S(5, 7).
' _ y

P(=9,7) 85, 7)

Q-9,2) A, 2)

(a) Find the lengths of PQ and SP.
(b) Find the perimeter of quadrilateral PORS. (5 marks)
0 The \9'/\&“!\‘3 of P .
1-2
= 5 wil
The lenaths of SP:
5- (1) |
= 514
= Wunils "
b) The_perimefer of quadnilaferal Pars:
(GHD N\
= 3%@ A 3/6 : / 7
VS A 2

" Question 6.

- Solve the equation x+2 =2(3 ~x) +5. (5 marks)
Lt =2(39015

WL Z 6-M45
A = bt5-12
b S
X= 3 P
/
V'
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Section C :( 30 marks)

Question 1. " (5 marks)

(a) Expand (x—6)(x> —4x—8).

(b) Simplify (2x* +10)— (x— 6)(x* —4y~—8), and arrange the terms in descending powers of x.
D (=00 -4 -8)
SO - -8 0 --v)
=3 - -He e T
- Ay by - B 1~
- by 4y T .,

D (27 +10) - (x-h) (> =y -b) i
=R - X -y - 8) L O Yy - V7
= Q¢ t1o0) - ﬂlhu« 1 - G> Jr)lw g X o —|

=Lf’i]0 zi /f’hw'h 3 by )U(u ~43

= W0 00 th Ay - %)c—)}w +i0- 1 ,«&3‘/

A 3 -ty - l“%\h 3, ]
Section € Ne:J(l

Question 2. (L 4i0)-0t-6) - H-x )
uestion

-3)0c- 6
Find the volume of the prism i the ﬁgure he e Eb& th ) G rnarks)

A——20om —Ip = w0 T e ’k\‘j - b0 ’Lf -3)
'aom = 17 H10 Y33 - w-xx-éﬁmw%}
e e |, = 0TI -3 440 Hhoa e -y - 1
- _%a ' 2)3 +Lm> I ‘H')Lj -ij +0-43
g B = A0 e Ry 4‘3% - )Lbjf‘g%
F G

The  volume of fhe  prigm-
(20 tlo)¥8 XL AL

= 30%3 %) ¥

- M YL W2

= 00 KWL

= 264 gy

>



Question 3.

S1 MATHS / P9

In the figure, AEB and DEF are straight lines. AB // CD, /ABF =28° and ZCDE =102°.

Find x.

28°

X“E%’ .A\D
102°

F

A c

(5 marks)

____,\j=lol°- mﬁ’w
i

Wty = (kg (ad}. £s on sl {ine)

J - :
wiod® = Qo ‘ ‘
Tl £ il X S
w=1
P

N‘rlﬂ%"ﬂ%u“ (LS swm of A)

Bt +38°= 13’

RSl 1 e

= e

/

4

— O
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Question 4.
The pie chart below shows the favourite travelling countries of S1 students in a school.

There are.35 S1 students whose favourite country is Korea.

Favourite travelling countries of
81 students in a school

(5 marks)
_(a) Find the value of x.

(b) How many students are there in S1?
(¢) Find the number of S1 students whose favourite country is France. -

M The Volue oy

Wrbo T4 1 105° +45° = 36

1= 3h0° =60 - I [o5° - 45"
Z Dy

VAR $ =

b) Do ;Meﬂs -

Q) B IN. S

=

=18 shwdeid
/ Y

I S 0) 10y
T T f/.\X s
e 1500
=~ O
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Question 5. LNe
May is now x years old. Rebecca’s age is 3 times May’s age. (5 marks)
(a) Express in terms of x, 3 years later. '

(i) May’s age,

(ii) Rebecca’s age

(b) Three years later, Rebecca’s age will be 7 years more than 2 times May’s age. Find their
present ages.

3"‘@\0\;}9‘- ~
~

)U(S
= (310 vears o\d
o) Rebecca’s 008 .
3y ¢
= (WA yéae o
D Mav 'y presert  ages Debecen's presed one:
(-3 ) Yeals old\p (<31 Yeags old
| JAN A —_
b) ),ms)ﬂ= WAS | /
b 2;&33 - Ny
Question 6. l}'\'\\j ‘é Y a=-0 == =10 .
In the ﬁgule /}“03\1 /alght line. ZBOD =120° and ZCOE = 90°. (5 marks)
= 3’\5/ ; %B
g@o (/)
203026

(a) Find-x: ' j
(Wa straight angle? Explain your answer. — {%
LE0° N =B (i - 25 on st (me)

i =1k’

7»( = Yo’ e
7“’ %ﬂ 4 u+hn - le"
B Ve ('&§+ rao’ 0T Dz
\HBO ‘r‘%o 20N [/
: = ($0°-%0° -90° @
3 = (g — NN N~ Y~
. LCOD S o stoieW  anole
= ~ .
) 2Q0D%e° = 8¢ -

b T = §o°
LOLACAD is A R{:\’Ng.b anale .

1]

END OF PAPER
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POK OI HOSPITAL TANG PUI KING MEMORIAL COLLEGE
Second Term Exam (2015-2016)
S1 Mathematics II

Date: 15 JUN 2018
Time: 45 minutes
®P.1-P12/47)

Instructions to students:
1.  Answer ALL questions on the spaces provided on the multiple choice answer sheet.
2.  The diagrams in this paper are not necessarily drawn to scale.

3.  Total score of this paper is 40 marks.

You may only mark ONE answer to each question.Two or more answers will score No Marks.

Section A: Elementary Questions (26 marks)

Question 1. :
What are the numbers represented by R and S?
D S— st § >

2 0y 2 3 & 5L

R S

A, -1 4
B. -1 6 D
C. 2 4
D. -2 6/
Question 2.

Referring to the following number line, which of the following MUST be true?
a b c

Sow
Q
+
O~
A
(9
L

Question 3.

Given the formula H =a? + 2b, find the \}alue of Hwhen a=5 and b=3.
A. 16 '

B. 19
C. 31

D. 33
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Questionﬁm\rm
Find thg @ of the sequence 96, 48, 24, 12, ...

A, 6
B. 3

3 _—
©
p. 2

4
Question 5.

Solve the equation 9x+11=2.

A. x=—z
2
B. x=-1 »
C. x=1 ‘ B
D. ng '
2

Question 6.
Solve the equation 6(x—7)=5(5x+3).

A, x=0

B. x=-3

C. x=-6 B

D. x= _3

Question 7.

What is 15% of 67

A. 9

B. 0.9

C. 4

D. 04

Question 8.

Daniel spends $4000 on rent, which is 40% of his monthly income. Hcome is
A.  §10000. '
B. $48 000. Rerl 400 0% 4%

C. $96 000. D

D. §$120000.

Question 9.
Estimate the value of 1239.7 +335.4+80.6 +4.4 by rounding up each number to the nearest ten.
A. 1660 -

00-
B. 1680 %
C. 1720
D. 1760

+ Mot .5
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Question 10.
In the figure, the measured length of the line segment 4B is

A. 7Tcm.
B. 75cm.
C. 7.6cm.
D. 8cm.

Question 11.
Which of the following angles is an acute angle?

N
.
?/ ;
-

Question 12.
Which of the following figures is not a convex polygon?

A.

0 b0 ¢




Quesﬁon 13.
How many axes of symmetry does the following figure have?

A, 2
B. 4
C. 6
D. 8

Question 14.
Which of the following figures has/have reflectional symmetry?

L

e
bd

OO

1.

Iv.

II only

III only

I, Tand IV only
L IIT and TV only

S 0w »

Question 15.

If the area of /AABCD in the figure is 8 cm?, find the area of AA4BD.

D

A7 8em B 4cm c . ﬂ
. 6cm’

14 cm?®
16 cm?®
20 cm?

S0 wp

S1 MATHS /P4
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Question 16.
In the figure, ABEF and BCDE are trapeziums. Find the area of polygon ABCDEF.

A 1 chm F

8cm
c 12§m D l o
A. 48 cm?
B. 72cm? ' B
C. 84cm? '
D. 96 cm?

Question 17.
Which of the following describes the relationship between the two triangles in the figure correctly? (

A I

‘ &\c Q ; =R
NMEBC= APOR / @

seder

A.
B. ABAC= ARPQ
C. ACAB= APOR
D. ACBA= AQRP

Question 18.

Refer to the figure. Which of the following is correct?

P
A

AABC = APOR D
/A\BAC ~ NOPR
ACAB ~ APRQ
NACB= AQOPR

SOoWr o



Question 19.

Which of the following points lies in quadrant III?

E

i

i
i

b

= 'S

b ®IQ

Question 20.

Find the distance between A(-3, —2) and B(—~3,»—4).
A.

B.
C.
D

1 unit
2 units
6 units

8 units

Question 21.
In the figure, AOB and COD are straight lines. Find x.

i
1
!
i
T
1
[

'
I
N

T
2

Q

i
H

T
4

>

X—i

T
. H
T

A
-\ )&
S

S1 MATHS /P.6
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Question 22.
In the figure, AB // CD and P(Q) is a straight line. Which of the following is a pair of corresponding angles?

Q
A. aandb
B. agandc
C. bandc
D. bandd
Question 23.

(-3a*)(-5a%) =

A. 84°
. —84°

B
C. 154°
D. -154°
Question 24.
315

Simplify 4a*bx2 ; .
A. lar7b6

2 .
B. }—anbs

2 /4
C. —1—a7b6

4

1

D. =a“p’
4
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Question 25.
The bar chart below shows the amounts of pocket money of 5 students in a week.

Amounts of pocket mohey
of 5 students in a week

80—

Amount of pocket money {$)

Peter John Amy Susan Tommy

Find the total amount of pocket money of these 5 students in the week.
A. $240 '
B. $280

C. $320

D. §$330

Question 26.

3x+1

Solve the equation

A.l' .
2

B. L C
6

3

1 .

3

[oey

Section B: Harder Questions( 14 marks)
Question 27.
The temperature is —10°C in the morning. If the temperature rises by 15°C in the afternoon and then drops

by 6°C at night, what will be the temperature at night?

A, -19°C

B. -1°C

C. 1°C -
D.

19°C %
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Question 28.
The stem-and-leaf diagram below shows the weights (correct to the nearest kg) of
30 students.

Weights of 30 students
Stem (10kg)  Leaf (1 kg)
410 0 2 2 3 3 4 45
51111 6 7 % & 9
6 |1 2 2 33 3 33 4 4 4

714 9
How many students are heavier than 56 kg?
A. 14
B. 15
C. 16 ' @
D. 17 '
Question 29.

The pie chart below shows the annual expenditure of a department store.

Annual expenditure of a
department store

If the annual expenditure of the department store is $6 000 000, find the expenditure on tax.
A. $1000 000
B. $1100000
C. $1200 000
D

$1300000 @

Question 30.
Simplify p(p+9)+q(p—2).
A. p’+q°

P’ +2pg—2
p’+2pg-2q @

pr+2pg—q°

o oW
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Question 31.

Simplify (7x*+2-3x*)—(1—-2x"+2x?), and arrange the terms in ascending powers of x.
A Tx'-2x —xP 41

B. 7x*-2x*-5x*+3
C. 1-x*-2x*+7x* @
D. 3-5x-2x*+7x*

Question 32.
In the figure, PQ // RS, then x =
7 R s

75°

M

P . oA

A. 99°.

B. 102°. C/
C. 111°.

D. 114°.

Question 33.

In the figure, AF'B, CGD, EFC and BGH are straight lines. Find a.

g D
\//--—"—‘-‘5 \430
H

A. 40° :
B. 41°
C. 42°
D. 43°
Question 34.

In the figure, the reason for 4B // CD is
A ¢
LL
E F
7
B | D | | @

corr. £s equal.

alt. Zs equal.
int. Zs equal.

Sowp

int. Zs supp.




Question‘ 35.

In which of the following figures, are 4B and CD parallel to each other?

I. E

G /N\74°
H/" D
//me=
F

EGHF is a straight line.

—?D/

F

BEF and CED are straight lines.

I E

EGHFis a straiéht line.

A. TandII only 7 '
B. TIandIII only

C. I andIII only @
D. L HandIlI ‘

Question 36.

S1 MATHS /P.11

The figure shows a quadrilateral 4BCD on a polar coordinate plane. Find the area of 4BCD.

3
D: 3|E0
C - l‘vbgo °
R SN
L & \
NS
270° -
A. 20 sq. units
B. 24 sq. units B
C. 36sq.units - ‘
D. 48 sq. units

w %ﬂ\k).‘ﬂ/\)
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Question 37.
A(3,-9) is rotated anti-clockwise about the origin through 180° to 4", Find the coordinates of A"
A (3,-9) ‘ ’
B. 3,9

C. (3,9. ‘ -
D. (9,-3) - B

Question 38.
In the figure, AXYZ ~ APQR. Find x and y.
z

w
N
—
>

0w >
SR
I T
S I
w <N
[
wn W

o

I
Il

Question 39.
In the figure, AD = CB and £ ADB = « CBD. Write down a pair of congruent triangles.

AADB= ABCD | @

NADB = ADCB X
A4DB= ACBD }
AADB= ABDC

Sowp

Question 40.

Solve the equation 1 + xol_x+2
2 3 4

n it
7 |

END OF PAPER




POK OI HOSPITAL TANG PUI KING MEMORIAL COLLEGE
FIRST TERM EXAMINATION (2015-2016)
ST INTERGRATED SCIENCE

Date: 1 8 JAN 2016
Time allowed: 60 minutes
(P.1-P.9/55)

Instructions to students:

1. Answer all questions.

2. Write your answers on the space provided in the answer sheet.
3. The total score is 100 marks.

Section A: Fill in the blanks: (12%)

1. (a) lR\,mgeh burne P is an apparatus for heating and we should (b) C/OS@ the
air hole before lighting.

2. In the laboratory, we usually use a (c) gl bD - L\}atc}/\ to measure time and use balance to
measure (d) e y\C/iNL

3. Animals can be classified into vertebrate and (e) ,‘nvcrfeLYatf . Plants can be
classified into flowering plant and (f) hon 'F/ULJ@H r\og plant.

. 1 N 3 - LY M
4 I:sh (;nly breathes with (g) 9i ) but mammal uses its (h) l Hg to
reathe.

5. The basic unit of living things is the () cel| .

6. We can use (j) _mic roscope to observe small objects.
7. Plant cell has a (k) (¢ || ol to protect the cell and green plant cell can
make (1) ‘H)o d when they get sunlight.

Section B: Multiple choice (18%)
1. When we heat a beaker of water, which of the folloWing apparatus is not required ?

@}hermometer B. Wire gauze C. Bunsen burner D. Tripod
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2. 'Which part of the diagram has the highest temperature?

3. Which of the following is a fair test to test whether sugar cube or granulated sugar
) dissolves (J&fi#) faster in water.

The weights of the sugar cube and granulated sugar
are the same.

=
4
s = g

sugar

water—=v-

50°C

granulated—
sugar :

water

: 20°C
20C
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Directions: Questions 5-6 refer to the diagram below.

5. Which of the following is the correct position to read the water level in the
measuring cylinder?

AT B. I @IH D. IV

6. What is the volume of the water?
A, 10cm® @QScm‘?’ C. 15cm’ D. 20cm’

7. Sunflower grows towards light. Which characteristic of living things does the
plant show?

React to stimuli B. Need air C. Need food D. Reproduce

8. Which of the following combinations is incorrect?

Group Example
A. Amphibian Frog
B. Reptile Snake
C. Mammal Monkey

@. Bird Bat

ix ]
(ii) Fern

(1ii) Moss

A. (@), (i) B. (i), (iii) C. (i), (iii) @ @), (i), (i)
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10. Which statement (s) is/are true for the photo below?

(i) they are mammals
(ii) they are all male
(1ii) there are variations within the same kind of animal.

A. (D), (i B.)i), di C. (i), (iii D. (i), (ii), (iii

11.  What is the common characteristic for the two animals shown in the photos?

1

A. Laying eggs
4@ Can maintain a constant body temperature
. Has hair

C
D. Has mammary gland

12. Which animal is an invertebrate?

13. What does the embryo get when it is developing inside the mother’s body?
(1) Waste (2) Food (3) Oxygen

A (1), ) B. (1), (3) Q@6 D. (1), (2), (3)
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14. How many sperm(s) can fuse with an egg during fertilization?
.1 B. 2 C.3 D.4 -

15. Which of the following parts in the male has similar(FE{B)) functiqns as the oviduct in
the female?

A. Penis B. Sex glands C. Testes @ Sperm duct

16.  Which of the following descriptions about a plant céll and an animal cell are

correct?
Plant cell Animal cell
@me has chloroplast v has no chloroplast J
- does not need food need food
C. hasno vacuole has large vacuole J
D. has no fixed shape has fixed shape

N

Directions: The following two questions refer to the diagram below, which shows the
female reproductive system in humans.

17.  'Which part will receive penis during mating? ;
AW B.X C.Y @ Z

18. Which part will contract strongly to push the foetus out during birth?
AW X C.Y D. Z

Section C: Matching (10%)
Part I: Match the following structures with its functions by writing down the
corresponding letter (A to E) in the answer sheet provided.

Structures Function (use)
1. Testes D A. Place for fertilization to take place
2. Sperm ducts £ B. Place for embryo to grow
3. Oviduct A C. Produce eggs
4. Uterus B D. Produce sperms
5. Ovaries C E. Will be cut during male sterilization

(HEH)
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Part II: Match each equipment with its use by writing down the corresponding letter

(A to E) in the answer sheet provided.

5. Water tap and sink

Equipment Use
1. Sand bucket E A. To supply gas to the Bunsen burner.
2. Fume cupboard D B. To supply water.
3. Eye wash bottle C.To wash the eyes when some
C chemicals get into it.
4. Gas tap A D. To remove toxic gases outside.
R | E. To put out a small fire.

Section D: True or False (8%)

1. We can answer all the questions by using scientific knowledge. F
2. We can use the insulating mat to protect the table during heating. T
3. We cannot measure the volume of irregular objects.

4. Penguin is a mammal. [~

5. Frog can use its moist skin to breath. T

6. All cells have cell membrane, cytoplasm and nucleus. T

7. Nucleus has DNA . T

8. Using condom is one of the methods for birth coptrol.%

Section E: Short Question (12%)

1. The photos below show a process carried out by an amoeba(#F &) observed under

microscope.

C

(a)(@) Rearrange the photos in correct order. (3)

c__ - _A - _B - _D

£33 A‘ ~i}
e

(if) What process(GEFE) is carried out by this amoeba? (1)

C‘”i” d?vig;or\
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(b) Draw a labeled diagram for the amoeba shown in photo C. @)

(c) Now we use a microscope with an 10X eyepiece and 40X objective to see this
amoeba. What is the total magnification of this microscope? Show your
calculation. (2)

(d) Is amoeba an animal cell or a plant cell? Why? (2)

Section F: Long Questions (40%)

1.(A)(®) The following key is to classify 5 groups of vertebrates (A-E). Complete the

following table (4).
Vertebrates
With Ihair : Withoui} hair
A gmals | |
With scales Without scales
With:fms Without fins E. Amphibian
B. ’F‘ g

With feathers Without feathers

|
« birds, b veileg

(if) Why the above animals are classified as vertebrates? (1)

rV\'\e.\‘ k;\\;a })Mic\mne

(iif) Which group (A-E) can provide enough food for their babies from their mother?

Why? (2) A / \Mamw.\g '—”\c\] ,M.w_ mmnmar7 3'0\(1

(iv) Which two groups of animals (A-E) can live in a very cold place? Explain briefly.

“)
{\ ,C . 1‘\6‘\5 L\ai(

A
B )\ai '{\ec\”‘[Lef
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(B) The photos below show some animals:

B (Snake)

D (Polar bear)

(i) Which two animals (A-D) are endangered species?  (2) /\ ,¢
(ii)Give one reason for each animal to explain why they become endangered specieS. (2) A
(iii)Why Polar bear’s body has similar(}8{Bl) colour as its living place? (1)
Gy A~ kil them fue for Hher skin Total: 16
C =l bicth rate -
2. John uses the following set-ups to find out whether blue flame or yellow flame need
shorter time to boil a beaker of water.

(a) Complete the table to make the two set-ups become a “fair test”. (3)

Setup A Setup B
Condition of air hole Air hole is open Airholeis close
Volume of water (cm?) 100 loa
Volume of beaker (cm?) Jqd 200

(b)@) What should be used to measure the temperature of water? (1) Lhermometer
(i) When water boils, what is the temperature of water? (1) la o
(iii) In order to 1{now whether blue or yellow flame need shorter time to boil a beaker
of water, what should be compared(FLii®) by John? (2) The 4ime 4o reachs [0 «‘c

(c) In which set up (A or B) will the water boil first? Why? (2)

N, The flwe Kighor tenperdure
Total: 9
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3. The diagrams below show the female reproductive system and a process happened in
the fernale body.

Cell A
Cell B
Diagram I
(a) Which structure in diagram I (1-4) can produce sex hormones?z(l)
B D‘
(b) In diagram I, state the route for cell A inside the female body to meet cell B.
@
> 5 > |
(c)(i) What is the name of process A? What will be formed after this process? (2)
Sortilized -
(i1) In process A, explain why the number of cell A 1s much more than that of cell B.
@) mang A v\ B <7, jacrease the hence o fertiliion
(d) Complete the table below: (8)
Cell A Cell B
Name Sperin ey
Shape Mg o {adpnk ke a bet]
Size and explain why they smalles [of@g el
have different sizes Tt hes ne Dd M hee )

Total: 15

End of paper




POK OI HOSPITAL TANG PUI KING MEMORIAL COLLEGE
Final Examination (2015-2016)

S1 INTEGRATED SCIENCE
Date: 20 JUN 2015
Time: 60 minutes
Instructions to students: v Marks: 100
1. Answer all questions. - (P.1-P.9/69)

2. Write your answers on the space provided in the answer sheets.
3. The total score is 100

Section A: Multiple-choice Questions(18%)

1. Which of the following methods can remove glhtypes of impurities from water?
A Dboiling. . B/ distillation.
C  sedimentation. D filtration.

ater droplets are found on the outer surface of a cold water bottle. It is a result of
condensation of water vapour. - B freezing of water.

C  evaporation of water. { D crystallization of water.
3. What form(s) of energy do the light bulbs give out?

Light energy and heat energy. B Light energy only.
Heat energy only. D  Electrical energy and heat energy.

4. A cup of water is covered with a card which is larger than the mouth of the cup. Why does the
card not fall when the card is turned upside down?

card

a cup filled with water Oy
A Water sticks the card to the cup. B The card is lighter than air.
C) The atmospheric pressure actingonthe D  The density of water is smaller
card prevents it from falling. than that of air.

May uses rice and beans to represent the particles of two liquids X and Y. Then

she mixes 50 cm® of rice and 50 cm® of beans. After shaking, total volume of the mixture
becomes 95 cm’. '

Which of the following is the correct explanation?

@ . There are spaces between particles. B Particles are moving all the time.

C  Particles are tiny. D The particles of X and Y are of the same size
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6. The diagrams below show the arrangements of particles of the three states of matter.

® ®

® particle of matter

‘What are the states of I, I and III respectively?

I I I
A Gas Liquid Solid
, Liquid Gas Soid
@ Solid Gas Liquid.
Solid Liquid Gas

7.  Two.objects, A and B, are put in a tank of water. They have the same size. Objects A sinks and
object B floats.

water ™ |

Which of the following statements about the two objects must be correct?
(1) Ais heavier than B.
(2) A has higher density than B. V'
3) A and B are made up of the same type of particles
A) (1) and (2) only B (1) and (3) only
C - (2)and (3) only D (1),(2)and (3)
8.  An empty glass is immersed in a tank of water with its mouth pointing downwards. The result is
shown below.

glass

air

water

Which of the following can explain the result?
(1) Water is liquid.

(2) Air takes up space.’

(3) Air is less dense than water.

A (3)only B (1) and (2) only
(2) and (3) only D (1),(2)and (3) .
The graph below shows the temperature change of gas X when it cools down. What is the boiling
point of X? ‘
Temperature (°C)
gas state liquid state
380 _,___._Aﬁ r_.._&__‘
[s] Time (min)

4 10 12

A 0°C (B 220°C

C 120°C D 380°C
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10 A cooked egg sinks in a beaker of water.

water

Which of the following actions may make the egg float in the water?
A - Add more water to the beaker. B Add cooking oil to the beaker.
C  Heat the beaker of water using a Dissolve a large amount of salt
hot water bath. into the water. |, %

11 Hot air balloon rises when the ajr inside is heated

Which of the following statements is/are correct when the air inside a hot air balloon is heated?
(1) The space between air particles inside the balloon become larger.

(2) Air particles inside the balloon move faster.

(3) * Density of air decreases.

A (1) only @ (2) and (3) only
D

C (1) and (2) only
12 On Earth, fresh water is found in

(1) Lakes
(2) Rivers
(3) Oceans
(4) Ice caps

@ (1) and (2) only : B (3) and (4) only
C

(1, (2),(3)

(1), (2) and (4) only D (1),(2),3)and (4)

13 Inthe diagram below, the motor is lifting the weight at constant speed. What form(s) of energy

does the weight gain when it is moving up?

cells

(1) Potential energy
(2)__ Electrical energy
@3 hemical energy
Al (D) only B (2)only
C (1)and (3) only D (1),(2)and (3)
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14 Sandy rides a bicycle down a slope as shown below at constant speed.

B

How does her kinetic ener ange during her ride from point A to point B?

A Ttincreases gradually. i B; -It remains unchanged throughout her ride.

C It decreases gradually It remains unchanged at first and then increases
gradually when she approaches point B.

15 Micro-organisms in water can be killed by
(1) adding alum(8FZE)

(2) boiling.
(3) ultra-violet light.
(1) and (2) only B (1) and (3) only
C) (2)and (3)only D @), and(3)

16 Crystal can be formed by
(1) putting a crystal seed in a saturated solution.
(2) allowing the solvent of a saturated solution to evaporate.

(3) filtering a solution.

A (1) only @ | (1) and (2) only
C (@and@)only D (1), (2 and (3)

17  The diagram below shows part of the water cycle.

What are processes 1, 2 and 3 respectively?

1 2 3
@ Evaporation Condensation Raining
. Condensation Evaporation Raining
C  Transportation Evaporation Raining
D  Condensation Transportation Evaporation

18  Asthe man releases the arrow, which of the following energy conversions takes place?

ST xE g

{3 Beiks
'

Potential energy > kinetic energy B Kinetic energy > sound energy
C  Chemical energy > potential energy D  Sound energy - kinetic energy
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Section B: True-or-false Questions (11%)

1

2

3

- 10

11

An object loses potential energy when it falls. T

A generator changes kinetic energy to electrical energy. T
Nuclear power is a renewable energy source. |-

Mixing sand and water can form a solution. F

A gas has fixed volume but no fixed shape. F

Gases have no mass. |-

When ice is melting to become water, its temperature increases.
Coal can be used as a fuel for power sfations. ‘Y

Evaporation occurs at a fixed temperature only. |-

Hot water can dissolve more solute than cold water. \

If saturated solution is cooled quickly, no crystal will be formed. ¢

Section C: Fill in the Blanks (12%)

1

2

A spring gains (a) ‘{)OJKQY\T} o energy when it is stretched.

During distillation, condensation takes place in (b) COY\&E hsEY . The

water collected by this method is called (¢) disliled Wy

The state of a substance depends on its (d) -\emvef 0»"(\)»“3 and pressure.

The random movement of smoke particles is called (e) Brownion motion.
Freezing is the process in which a substance changes from (f) I C\VL'\A into
[€23)] hid state. The change occurs at a temperature called

(h) ez oint.

When no more solute can be dissolved in a solvent, a (i) 3 0(\\)‘(0&6 (\ solutionis
formed.

Crystals have (3) YQOJU\ o shapes and (k) S‘mémji\/\ surfaces. .

When particles move, they have (1) \C\Y\Q'\,'\C, energy.

Section D: Matching(9 %)

1.

Classify the following fuels into fossil fuels and non-fossil fuels by writing (i)
to (v) in the spaces below. (5 marks)

(@) Coal

(i) Uranium(§h)
(iii) Natural gas
(iv) Biofuels
(v) Crude oil

Fossil fuel: 111 V.1

Non-fossil fuel: \\ , \\




1
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2. Match i) to iv) to the correct place below - (4 marks)

i)  For killing micro-organisms in water

ii)  Only remove large and heavy solid impurities

iii) Prevent tooth decay

iv) Being used in swimming pools but irritates(fI[}&) our eyes

Sedimentation:  \ |

Add Chlorine: "\

Add Fluoride:  \\1
Ozone:__

Section E: Short Question (21%)
The table below shows the densities of five substances.

Water Kerosene(>k7K) | Wood Ice

Steel

1.0 s 08 | 067/ 09

7.8

N\
Ny
QO
identify substances A, B, C, D. (4 marks) -
Substance
A Wood
B Tce
C §lee |
D levoSene

2. Squirrels (fAE) feed on seeds and nuts. They live on trees and always climb up
and down the trees.

. ts"f (1 mark)

\
'

(b) Inthe bodies of squirrels, energy stored in seeds and nuts is converted into various

forms of energy. Fill in the blanks in the answer sheet.

) energy and (ii) energy
when climbing up trees

Energy stored in seeds
and nuts

(iii) energy for @iv) energy stored

keeping the body warm in fat

(4 marks)




3 Sam adds coffee powder to a glass of cold water.

_coffee powder

P

(a) Name the solvent and the solute in the above case.

(b) After stirring for some time, some coffee powder sti
Suggest ONE reason. become S‘l’i\_ MK‘C‘\' (1

i
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cold water

* (2 marks)

mains undissolved in the water.

LON

(c) How can Sam dissolve more coffee powder? State two things he should do (2 mark)

cdd oy lﬁﬂ“ , heo{

4(a) The photo below shows some burning incense (%). The smoke rises in the air.

the .uﬂfek

() Explain why the smoke rises in the air. (1 mark) $ olce 15 less lense &\’\ an  alr
Sketch the moving path of a smoke particle in air.
() Write down the differences between a solid and a gas by filling in the table (4 marks)

(b

Section F: Long Questions(29%)

1

@
(b)

(d)

(2 marks)

The graph below shows the change in temperature of a substance when the substance is
heated. At the beginning, the substance is in solid state.

Temperature (°C)

4
100

20 —

What is the melting point of the solid? Dp C

Name the state(s) of the substance in each of the regions BC, CD and DE. (5 marks)
9

(¢) What is the boiling point of the substance? [ @ C

‘What is the gubsta

n's.

7 Suggest ONE possible answer.

e

> Time

¢ \'\O\V;\)“

(Im ark)/

s ¥ \"O\VC\

(1 mark)
(1 mark)

fopad 9 S
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2 Atoy rocket is filled with gunpowder. When the gunpowder is lit, the rocket rises. After it
reaches the highest point, it falls back to the ground. The diagram below shows the toy
rocket and the path of its flight.

<+ highest point

* Toy rocket
S
rise f Xfall
% % ground
P R '

(a) What form of energy does the gunpowder(OK ZE) store? (1 mark)

(b) What are the energy conversions when the rocket flies up from a lower position(P)

to a higher position(S)? (2 marks)
Energy stored in the gunpowder ————» (i) energy and (ii) energy of the rocket
— (c) What form of energy does the rocket gain as it rises? (1 mark)

-(d) At which position (P, Q, S) does the rocket possess no kinetic energy ? @\(1 mark)

(e) Write down the energy conversion when the rocket falls (2 marks)

)O’(CKY\ o L\Y\EAK \C

3 (a) Using the apparatus  given below, draw a labelled diagram for the Filtration set-up. (4 marks)

Tiveak

(b) Whatis the name of the liquid collected by filtration? (1 mark)

(¢)  Iswater purified by filtration safe to drink? Why? (2 marks)

") Y las et - @YSN\\SW\S
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4  Abrown gas is trapped in a spherical container of volume 1 m® as shown. The
spherical container is connected to a big container of volume 75 m® with a narrow
tube. The big container contains no gas.

brown gas valve

/ narrow
tube

spherical container
(1m

The valve is then opened such that the brown gas fills up both containers.
(a)(1) What is the total volume of the brown gas now? [Note: The volume
of the narrow tube is negligible (EJZEZET).] ﬂ)c e (1 mark)

(i) How does the gas pressure change? Why? Q[QQYQ 0GR (2 marks)

(iii) How does the average distance between gas particles change? (1 mark)
THCROK
After the valve is opened, temperature of the brown gas drops and the spherical
container becomes cold.
o SN
(b)(i) How does speed of particles of the brown gas change? (1 mark)

(ii) Explain why water droplets are found on the outer surface of the

spherical container. H oy /0\? oy ipn {_h p (:2 marks)J

{he snloiner  conlenees
Oh the Col  snifact of

Ve containey .

<<End oF ?a‘:w >




POK Ol HOSPITAL TANG PUI KING MEMORIAL COLLEGE
Final Examination (2015-2016)
S1 INTEGRATED SCIENCE
‘ ANSWER SHEETS

TIME ALLOWED: 60 minutes (P.1-P. 4/69)
Section A: Multiple-choice Questions(18%)

Put a ‘v” in the correct boxes to indicate your answers.

1 2 3 4 5 6 7 8 9 |10 |11 [ 12 |13 (14 |15 |16 |17 |18
A ATARRY; vV vaRd IV
B |V / 1|7 /

C 4 v / ' Y4 /
D YAVAVAN, VARYA

Section B: True-or-false Questions (11%)

Write “T" for a true statement and ‘F’ for a false statement.

1 T 2 F 1 3 T F 4 F 5 F
6 F 7 1 ¢ 8 1 9 F 10 T
11 :

Section C: Fill in the Blanks (12%) 7

I @ pqehm/

2 O _ndenser, @ distel  ualer

3@ _space X0

4 @ _br owmow\,/ |

5 (D \-\q\w\(\ @ m @ Afeezin g
6 @ siuded

7 G) regu\w/ 5 () Smiﬁﬁ // &//

8. @ _ landic
Section D: Matching(9 ‘%)

1 Fossil élél:}‘( , )<//
' Non Fossil-ﬁl@ ;'2/'/, W/ / 7

2 Sedimentation: i\ /
Add Chlorine: |V g

Add Fluoride: i1l /

Ozdne: i /
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~ Section E: Short Question (21%)

S1/1IS/P.2

Substance
A Woad
B Tee
C Sfee)
D Kcroscns/ T @)
2 __[hemicol Crtray M
200) ()__lanelic LW
(if)__polenfi ol / 0
i heal / m g
(iv) Q\r\evmco\\ / 1)
3(a) Solvent: (o4 Nﬂev/m Solute: f\rﬁ’t’e/ powéer (1)
oSl s it 7( )
©_Jom o (Al some uof[ev (; ond AMir i ffer .
4@ Becase  the cengTy of m/{mu\@. is \ lower@’ﬁom the_air . (n)
()
O o
] O ] O O o] O 5 ,
0" d o o 0 5 5 0
O O
© © o 0 )<Q 0O 6 0 N
° @
©
Spaces between particles | Motion of particles
(large/small)
Solid
SW\O\V vibyole Aol :2\
. ved  volunie
Gas lO\Y / | move  all ﬂ\ﬁ( )
Se' dweéhong/ ¥ )

!
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Section F: Long Questions(29%)

1 (@

(b)

(©

(d)

(b

©

(d

(e

N

3(a)

S1/IS/P3

R~ . M
Vi
Bc: Sl ;/ . @
71
cD: hq.%/ 7, M
DE: C‘wﬁ/ 1} ~ - @
/1
DE /s )
DE )
Chemi col /Eh{mvt A (1)
/ JJ
). .L-mle-hﬁ/ (1) ehergy and
7
(i) polenfi ol (Defergy %
‘ /
Cl\cmiccx‘ thg@q )
4 Y’J
p Q. M
@)

Evponded _conversion

Syfier. pOReY
%vwme\

« MV

| Lo

0 O

(4)



chau
矩形


/ _ S1/1S/P.4
®_ Fillale _ M

@ No ,/)oe/ctmse it 3\@, yemove /M\(\:g\e/l ivmngﬂie& and @

it il hac  solble mplies and  mitvo - organisms n fhe waler

4 (a) (i) /ﬂ\e JCoJ[oJ \/Qk\me mc ﬂ\e browh 30\3 i3 @QXZ (1)

Gy _Jhe gas ?reésure beome oy ond the s\)&'ce' b O

——————TTTTTT
U\ﬂ \}oﬂ\o\es ,\Occm\e S&Nluw‘ [
v The space of o5 pressare  bewme  largef / )
v < '3 /V

OO Sgeed of gan[ielﬂs move  Slous L{ﬁ@ oand_the Spgce W
became - Swaller and  densily  pecgme—forer {

o) Bowe i @E Some. ey Vopouy @

X

()/m\&(%%

- End o{' Amswe\' gl\ﬂﬁts -
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